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The Square night Claim that the Triangle's Watch

is running too Slow .

Ana ! Then
,
the time for the Square| runs faster ! so you are violatinq

Di Dylan's Postularte Of relativityI C
•
"

°

| because Physics aíedifferent withI I

respect to each Observer !

Your timeistnoving +00s !

v < < a v ≈ a

=) p = O |
Small number

divided by a ⇒ P = 1-
/
nnmbers÷::::BIG NUMBER } | dividing

Like Ft Cars
, Sonic planes like subatomic paíticks

↓ ↓ ↓

372.5km/h 3.500
"

7h U = 0.99975C



Dylan's postularte ctictcites that there Stroud be Sorne like in the Case of SIMULTANIETY

Kind Of RECIPROCITY between observes because MORAL : the RATE ot TIME is dependent of the

each of them has a VALID INERTIAL FRAME .
Observer
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THOUGHTLet's spice things up : EXPERIMENT 2

NOW , the spcicetime diagrama would took like this : < Flash qets ☐ sandwich >
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NOTE : both observes perceive that mcasuring
from their trame of referente the other

One's time is running Slow in the Same

Dtoportion .

It is not a Paradox ,
it's a maker of petceptionm. Excrcise : Explain with a ST - diagrama if this

meme makes any Sense
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Flash and the criminal
A

are in a Building

Flash GOCS with Constant"
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and Dicks his bagel .
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Returns with the Same

speed to the building
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1-elling us ?
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• In which Ways is thisexperimentosimilar to the pievious One?

What • What can be Saic about the. Symmetry{ of the problem?
here ?
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• Do they both (the Flash and the criminal )
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, have a valid referente frame?

• What happens in the qíay area of the
ST diagram ?
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Suppose the Flash runs at 2¥ C and the{ Tim Hortons is at (running at that

speed ) . = >yeah

How Older is the criminal when the Flash is back ?
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At this Point we have come (geometricallyl we are able to sense that the píoposed

familiarized with the Stretchy 4 rotational transformation must :

Matute of Chanqing One inerticil frame of
teference to ☐nother One

.

• interlace time { Space coordinantes
(with the kelp of vas Currency of exchange

Now is a good time to establishalgebraica/ IY ☐ relationship between coordinate • De able to replicante Galilean transforma-

Systems , ir a similar Fashion as Gali lean tions when the velocities are Small .
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Deduction : Let's tate an event that is

Connected to the Origin by a tight Subs titutinq lana ignoring the nought )
Path :
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Let's toke the qalilean transformation
and Seale it by Sorne Unknown factor we have found Lorentz factor
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It is left to the reader to corroborato now

Same factor ! the transformation for the time variable .

NOW multiplying both of the express ions :

A
"

cleaner
"

version ot 2T. can be state as :

×
'

✗ = ✗
2 ( × - Ut ) ( ✗

'

+ UÍ)

= X2 ( ✗ ✗ '

+ xut
'
- ✗

'

Ut - Uti ) X ' = 8 (× - Pot )

For our event in particular we have that ft
'
= TICT - Bx )

✗◦ = Cto & xó = ctó


